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FUKIEN SECONDARY SCHOOL
S3 First Term Uniform Test (2020-2021)
Chemistry

(45 minutes)

Date: 23 October 2020 Name:
Time: 9:45a.m. - 10:30a.m. Class: No.:

Instructions to students:

1. Write your name, class and class number on both the question paper and the answer sheets.
2. Answer ALL questions.

3. Write down all the answers on the answer sheets.

4.Hand in the question paper and the answer sheets at the end of the examination.

5. The total mark of the paper is 70.

I.  Multiple Choice Questions (20 marks)

1. Which of the following statements about metals and non-metals at room temperature and

pressure is correct?

A.

B.
C.
D

All metals are solids.
All non-metals are non-conductors of electricity.
Non-metals are either gases or solids.

All metals are conductors of electricity.

2. Which of the following substances is NOT an element?

A.

B.
C.
D

Diamond
Glucose
Oxygen
Sodium

3. Which of the following elements is the BEST conductor of heat?

A.

B.
C.
D

Magnesium
Hydrogen
Nitrogen
Sulphur

4. Which of the following statements about copper is correct?

A.

C.

o

It is a poor conductor of heat.
It has a shiny appearance.

It is brittle.

It has a low boiling point.
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5.

Which of the following statements about elements are correct?
(1) Two or above elements chemically combine to form compounds.
(2) An element is a substance which cannot be broken down into anything simpler by
chemical methods.

(3) Ammonia is an element.

A. (1)and (2) only
B. (1)and (3) only
C. (2)and (3) only
D. (1),(2)and (3)

Which of the following substances are good conductors of electricity?
(1) Solid aluminium
(2) Graphite
(3) Molten sodium

A. (1)and (2) only
B. (1) and (3) only
C. (2)and (3) only
D. (1),(2)and (3)

Which of the following statements about oxygen are correct?
(1) Itisa colourless gas.
(2) Itis a non-metal.
(3) The following hazard warning symbol should be displayed on a metal cylinder

containing it.

A. (1)and (2) only
B. (1)and (3) only
C. (2)and (3) only
D. (1),(2)and (3)

Which of the following statements about the structure of an atom is correct?
A. The nucleus is composed of electrons and neutrons.

Most of an atom is empty space.
C. Protons move outside the nucleus at a high speed.

D. Neutrons and protons are much lighter than electrons.
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9.  Which of the following combinations about the atomic structure of a sulphur atom is correct?

Number Number Number
of neutrons of protons of electrons
A. 15 15 17
B. 15 15 16
C. 16 16 16
D. 18 17 17

10. Which of the following atoms has the SMALLEST number of neutrons?
A. °'Ti

.V
C. %Nij
D. %7Zn

11. Which of the following statements about an atom is INCORRECT?
A. The number of protons must equal the number of electrons.
B. The number of electrons must equal the number of neutrons.
C. The atomic number must equal the number of protons.
D

The mass number must equal the number of electrons plus the number of neutrons.

12. The atomic number and mass number of an atom of an element is 9 and 19 respectively. The
atom contains
A. 9 electrons and 10 neutrons.
B. 9 neutrons and 10 electrons.
C. 9 protons and 10 electrons.
D

9 protons and 19 neutrons.

13. Which of the following atoms has the SMALLEST number of electrons?
A 127W
. 53

B.
c. %y
D

14. The atomic number and mass number of an atom of element X are 11 and 23 respectively.
Which of the following statements about X is correct?
A. Anatom of X has 12 electrons.
B. Xis asolid at room temperature and pressure.
C. X can be represented by the symbol 12X.
D. Xis stored in water in the laboratory.
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15. Which of the following statements about an atom is / are correct?

(1) Anucleus carries no charge.

(2) The mass of an atom concentrates at the nucleus.

(3) Electrons move at a high speed inside a nucleus.

A. (1)only
B. (2)only
C. (1)and (3) only
D. (2)and (3) only

16. Which of the following statements are correct?
(1) The mass of a hydrogen atom is nearly the same as that of a proton.
(2) The mass of an electron is negligible when compared to the mass of a proton.

(3) The nuclei of atoms of all elements must contain proton(s).

A. (1)and (2) only
B. (1) and (3) only
C. (2)and (3) only
D. (1),(2)and (3)

17. The atomic number and mass number of an atom of element X are 17 and 35 respectively.
Which of the following statements about X is / are correct?
(1) An atom of X contains 17 neutrons.
(2) X s a gas at room temperature and pressure.

(3) Xis used as a sterilizing agent.

A. (1)only
B. (2) only
C. (1)and (3) only
D. (2)and (3) only

18. Which of the following pairs of atoms have the same number of occupied electron shells?
(1) Aluminium atom and argon atom
(2) Carbon atom and neon atom

(3) Silicon atom and potassium atom

A. (1)and (2) only
B. (1) and (3) only
C. (2)and (3) only
D. (1),(2)and (3)
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19. Element X has three isotopes, ¥X, 87X and %¥X. The graph below shows the relative abundance

of the isotopes.
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What is the relative atomic mass of X?

A. 86.7
B. 87.1
C. 8717
D. 88.1

20. An isotope of chlorine has 20 neutrons. Which of the following statements about the chlorine
isotope are correct?
(1) There are three occupied electron shells in the isotope.
(2) Its mass number is 20.

(3) It contains 20 protons.

A. (1)only
B. (2) only
C. (1) and (3) only
D. (2)and (3) only
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Il.  Structured Questions (50 marks)

1. The following table shows the properties of some unknown elements.
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Element
A B C
Property
State at room temperature and pressure gas solid liquid
Appearance dull shiny shiny
Electrical conductivity nil good good

(a) Classify A and B into metal or non-metal. Explain your answer. (4 marks)

(b) Which element, B or C, is mercury? Explain your answer. (2 marks)

2. Gallium occurs naturally in two isotopic forms, gallium-69 and gallium-71. The atomic number of
gallium is 31.

(a) How many neutrons are there in an atom of gallium-69? (1 mark)
(b) How many neutrons are there in an atom of gallium-71? (1 mark)
(c) The relative atomic mass of gallium is 69.8. Calculate the relative abundance of each isotope in
natural gallium. (3 marks)
3. Vanadium has two isotopes.
A
(a) Define the term ‘isotopes’. (2 marks)
(b) Complete the table below to show the number of protons, electrons and neutrons in these two
isotopes of vanadium. (3 marks)

Number of
Isotope
protons electrons neutrons
Vv 23 23 (i)
LV (ii) (iii) 28

(¢) Astudent claims, ‘Both isotopes of vanadium have same physical properties as they belong to the

same element.’ State and explain whether he is correct or not.

(2 marks)
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4.

(a)
(b)
(©)
(d)

(@)

(b)

(©)

(2)
(b)
(©)
(d)

Consider the following elements:

bromine, phosphorus, beryllium and iron

Classify the above elements into metals and non-metals. (4 marks)
Write the chemical symbols of the above elements. (4 marks)
List TWO differences between metals and non-metals. (2 marks)
Some elements have properties of both metals and non-metals. How can these elements be
classified as? Also, give ONE example of these elements. (2 marks)

The structures of five atoms, A, B, C, D and E, are shown below.

electron
proton® @ . @neutmn @
C D

A B

Answer the following questions about these structures. Each structure can be used once, more
than once or not at all.

(1)  Which TWO structures are hydrogen atoms? (2 marks)
(i) Which structure represents an atom of a metal? (1 mark)
(iif) Which structure has an atomic number of 3? (1 mark)
(iv) Which structure has two neutrons in its nucleus? (1 mark)
The full atomic symbol of carbon-12 is *2C . Write down the full atomic symbols of atoms D and
E. (2 marks)
Which structure is the isotope of structure B? (1 mark)

Write the electronic arrangements and draw electron diagrams for the following atoms:

Argon (3 marks)
Potassium (3 marks)
Calcium (3 marks)
Chlorine (3 marks)

End of paper
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FUKIEN SECONDARY SCHOOL
S3 First Term Uniform Test (2020-2021)
Chemistry
(45 minutes)
Answer Sheets

Date: 23" October 2020 Name:
Time: 9:45a.m. - 10:30a.m. Class: No.:

I. Multiple Choice Questions (20 marks)
Please put a tick in the appropriate box below.

112134567 (8|9 1011|1213 |14[15]16(17|18|1920
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II. Structured Questions (50 marks)
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End of Answer Sheets



